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GDS TO PM/MTS KERALA CIRCLE-2020 
(1.) Maximum extension possible for the working hours of a Night Post office is 

(A.) 11.30 PM (B.) 08.30 PM (C.) 10.30 PM (D.) 09.30 PM 
(2.) An article cannot be refused by the addressee. 

I. If the addressee opens the cover 
II. If the addressee receives it opened  
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Neither I and II is correct 

(3.) The services available in a Post Office include 
(A.) Post Box (B.) Post Bag 
(C.) Poste Restante (D.) All of the above 

(4.) One among the below cannot be sent by post. 
(A.) Articles of Gold (B.) Fire Arms 
(C.) Currency Notes (D.) None of the above 

(5.) Consider the following statements and choose the correct answer. 
I. Union Territory of Lakshadweep is a separate Postal Circle.  
II. Union Territory of Pondicherry is as part of Tamil Nadu Circle  
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Both I and II are not correct 

(6.) Registered articles are delivered only to 
(A.) The addressee only 
(B.) Authorized agent of the addressee 
(C.) Both of the above 
(D.) None of the above 

(7.) Post Office identity card can be given to 
(A.) Tourists (B.) Travelling representatives 
(C.) Both (a) and (b) (D.) All of the above 

(8.) The manufacture and use of fictitious Postage stamp is categorized as an offence punishable under IPC 
(A.) 153A (B.) 163A (C.) 263A (D.) 273D 

(9.) A letter should not weight more than 
(A.) 500 gms (B.) 3 KGs (C.) 2 KGS (D.) 1 KG 

(10.) Consider the following statements and choose the correct answer. 
I. No article will be delivered unless it bears a definite address.  
II. Article with a fictitious name is regarded as not bearing a definite address.  
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Both I and II are not correct 

(11.) The stationeries which Post offices issues includes 
(A.) Envelope (B.) Post Card 
(C.) Inland Letter Cards (D.) All of the above 
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(12.) The conditions of a Registered Newspapers are 
I. That it is published in numbers at intervals not more than 31 days  
II. It has a bonafled list of subscribers.  
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Neither I and II is correct 

(13.) Customs Duty on a Postal article can be paid through 
(A.) Cash (B.) Cheque 
(C.) Both (a) and (b) (D.) None of the above 

(14.) According to POSB Rules 1959 who can open an account. 
(A.) A single Audit (B.) Two Audits Jointly 
(C.) A minor in his own name (D.) All of the above 

(15.) Postal Life Insurance was started on 
(A.) 1st February 1980 (B.) 1st January 1850 
(C.) 1st February 1884 (D.) 1st January 1910 

(16.) The charges for Window delivery 
(A.) Rs.10/ (B.) Rs.25/ (C.) Rs.50/ (D.) None 

(17.) Consider the following statements and choose the answer. 
I. Letters, Postcards and Letter cards are first class mail.  
II. Blind Literature packets is a second class mail.  
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Neither I and II is correct. 

(18.) A village postman can 
I. Carry cash in prescribed limit.  
II. Carry a small stock of stamps and stationary.  
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Neither I and II is correct. 

(19.) Choose the odd one with respect to Post Office holidays. 
(A.) 26th January Republic Day (B.) 14th November Children's Day 
(C.) 15th August Independence Day (D.) 2nd October Gandhi Jayanthi 

(20.) The maximum amount a person can deposit in his Savings Bank Account in a year 
(A.) One Lakh (B.) No limit 
(C.) Ten Lakhs (D.) Fifteen Lakhs 

(21.) Consider the following about Transit Office and choose the correct option 
I. It receives and sort bags by opening them.  
II. The bags which are opened and forwarded are called forward bags.  
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Neither I nor II is correct. 

(22.) The Post Office Savings Bank rules enacted and came into force in the year. 
(A.) 1965 (B.) 1982 (C.) 1975 (D.) 1995 
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(23.) A journey performed by a set of section travelling on duty from one end of the beat to the other is called. 
(A.) Trip (B.) Journey 
(C.) Travel (D.) None of the above 

(24.) Pradhan Manthri Jeeavan Jyothi Bheema Yojana can be opened by Savings Bank account holders of age 
between 
(A.) 10 to 30 years (B.) 15 to 5 years 
(C.) 21 to 60 years (D.) 18 to 50 years 

(25.) Consider the following regarding labeled bundle and choose the correct answer 
I. A station bundle is a labeled bundle. 
II. A sorting bundle is a labeled bundle.  
(A.) Only 1 is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Both I and II are not correct. 

(26.) Enumeration returns of Postal Articles are done 
(A.) Half yearly (B.) Annually (C.) Quarterly (D.) Bimonthly 

(27.) Sukanya Samrudhi Yojana has the interest rate (w.e.f.01.0.2020) 
(A.) 7.3 (B.) 7.4 (C.) 7.5 (D.) 7.6 

(28.) Consider the following statements about Sub Foreign Post Offices and choose the correct option. 
I. A Sub Foreign Post Office close bags directly for other countries 
II. It does not receive bags addressed to it directly from foreign countries 
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Both I and II are not correct 

(29.) Choose the correct option. 
(A.) All first class malls are only surface transported. 
(B.) All first class malls are Air Lifted. 
(C.) Both are correct. 
(D.) Neither (a) nor (b) are correct 

(30.) A Due Mall and Sorting List consists of 
(A.) The Due mall list of receipt and dispatch. 
(B.) Letter mall sorting list 
(C.) Registered and Parcel mall sorting list 
(D.) All of the above. 

(31.) The account office of a Branch Office is 
(A.) Sub Office (B.) Mall Office 
(C.) Sorting Office (D.) Transit Mail Office 

(32.) Machine franked articles posted in letter boxes are 
(A.) Paid article (B.) Unpaid article 
(C.) Mis-sent article (D.) None of the above 

(33.) Post Office Time Deposit Account (TD) cannot be opened for 
(A.) Two year (B.) Three year (C.) Four year (D.) Five year 
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(34.) A Special bag contains 
(A.) Cash only 
(B.) Correspondence of High Offices of Government 
(C.) All of the above 
(D.) None of the above 

(35.) Consider the following statements. 
I. Registration is obligatory on any Value Payable article.  
II. Registration is obligatory on any article bearing the word Registered.  
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Both I and II are not correct 

(36.) Metal tokens can be carried by 
(A.) Postal Officials (B.) RMS officials 
(C.) Both (a) and (b) (D.) Neither (a) nor (b) 

(37.) A Post Office or Sorting Office or Section which exchanges mails with offices in Foreign countries is 
known as 
(A.) Exchange sorting office (B.) Office of Exchange 
(C.) Transit Exchange office (D.) None of the above 

(38.) Maximum weight of International Speed Post (EMS) 
(A.) 35 kg (B.) 25 kg (C.) 15 kg (D.) 55 kg 

(39.) A cash bag is used to remittance of cash between 
(A.) Mail Offices (B.) Post Offices 
(C.) Both (a) and (b) (D.) None of the above 

(40.) Postal Divisions are under the charge of 
(A.) Senior Superintendent of Post Offices 
(B.) Superintendent of Post Offices 
(C.) Both of the above 
(D.) None of the above 

(41.) Memorandum of Distribution of work is issued by 
(A.) Superintendent (B.) Sorting Assistant 
(C.) Mail Assistant (D.) Mail guard 

(42.) A Sub Office which has surplus fund may dispose it by 
(A.) Remittance to Treasury of bank 
(B.) Remittance to another Sub Office 
(C.) Remittance to the Head Office 
(D.) All of the above 

(43.) The Daily report which is Head Sorting Assistant submit to the Superintendent through the Record Officer 
is 
(A.) MS 83 (B.) MS 63 (C.) MS 93 (D.) MS 73 

(44.) Whole Life Assurance or Suraksha has a minimum and maximum age at entry 
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(A.) 19-55 (B.) 21-50 (C.) 25-35 (D.) 15-35 
(45.) Consider the following statements regarding Automatic Mail Processing Centers and choose correct option. 

I. It is established in cities where quantum of mail is heavy. 
II. It sort only parcels above 5 KGs.  
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Both I and II are not correct 

(46.) Empty bags remaining over from the previous trips are required to be sent to 
(A.) District Bag Office (B.) Transit Bag Office 
(C.) Due Bag Office (D.) All of the above 

(47.) The responsibility of cash and stamps in a Post Office lies with 
(A.) Postmaster (B.) Division Head 
(C.) Sub Division Head (D.) Mail Overseer 

(48.) Postman's book is form 
(A.) MS 23 (B.) MS 27 (C.) MS 57 (D.) MS 43 

(49.) A Void Money Order is 
(A.) If payment cannot be effected to the Payee 
(B.) Amount cannot be repaid to the Remitter 
(C.) Both A and B 
(D.) None of the above 

(50.) The minimum and maximum cash balance of a sub office is fixed by 
(A.) Head Post Master (B.) Postmaster 
(C.) Head of the Division (D.) Head Record Clerk 

(51.) Bharat Natyam is indigenous to the state of 
(A.) Kerala (B.) Tamil Nadu (C.) Karnataka (D.) Telangana 

(52.) Central Civil services (Conduct) rules was enacted in the year 
(A.) 1954 (B.) 1964 (C.) 1974 (D.) 1984 

(53.) The 2019 General Election constituted the 
(A.) 156 Lok Sabha (B.) 18th Lok Sabha 
(C.) 22nd Lok Sabha (D.) 17th Lok Sabha 

(54.) Consider the following statements and choose the correct option 
I. A Government official while travelling abroad should take permission from the higher authority.  
II. Integrity of an Officer is not an essential condition for appointment to a Government Post. 
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and Il are correct (D.) Both I and II are not correct 

(55.) Consider the following statements regarding Western Ghats and choose the correct option. 
I. it is the largest mountain ranges after the Himalayas.  
II. It is the home of hill stations like Mahabaleshwar and Shimla. 
(A.) Only I is correct (B.) Only II is correct 
(C.) Both I and II are correct (D.) Both I and II are not correct 
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(56.) Article 19 of the Indian constitution deals with 
(A.) Freedom of speech and expression 
(B.) Freedom of Association and Unions 
(C.) Both (a) and (b) 
(D.) None of the above 

(57.) The Jog Waterfalls is situated in 
(A.) Tamil Nadu (B.) Maharashtra 
(C.) Karnataka (D.) Telangana 

(58.) India Post payments Bank is head quartered at 
(A.) Mumbai (B.) New Delhi (C.) Chennai (D.) Hyderabad 

(59.) The champaran Sathyagraha took place in the year 
(A.) 1921 (B.) 1917 (C.) 1919 (D.) 1922 

(60.) Article 52 deals with 
(A.) Prime minister of India (B.) President of India 
(C.) Speaker of the Parliament (D.) Vice President of India 

(61.) A postman went to his beat for delivery work on his bicycle at a speed of 10km/h and took 1 hour and 30 
minutes to complete his beat. What is the distance travelled in his beat? 
(A.) 10 Kms (B.) 15 Kms (C.) 5 Kms (D.) 20Kms 

(62.) FAG, GAF, HAI, IAH, _ 
(A.) HAK (B.) HAL (C.) JAI (D.) JAK 

(63.) Five students A, B, C, D and E are sitting on a bench. E and B are adjacent to each other. E and C are 
adjacent to each other. A is on the extreme left. B is second from the extreme right. Who is sitting between 
A and B? 
(A.) D and C (B.) C and E 
(C.) E and D (D.) None of the above 

(64.) How many minutes will a mail van take to cover a distance of 20 Kms if it is travelling at a speed of 
50Km/hr. 
(A.) 10 minutes (B.) 15 minutes (C.) 2 minutes (D.) 8 Minutes 

(65.) What is the number at the place of? 

 
(A.) 21 (B.) 22 (C.) 23 (D.) 24 

(66.) A class containing 50 students has a composition of 60 % Girls and 40 % Boys. Due to a Flood situation 
40% of Boys and 20 % of girls were absent. Calculate the number of students percent in the class. 
(A.) 14 (B.) 36 (C.) 34 (D.) 38 

(67.) Find the odd one out. Thiruvananthapuram, Chennai, Mumbai, Mysore 
(A.) Thiruvananthapuram (B.) Chennai 
(C.) Mumbai (D.) Mysore 



www.vvacademy.com         for free material click  https://www.t.me/+ImPB0BcWstNkY2Nl    
9985525552/8977525552

 

 

V V ACADEMY -GDS TO MTS/PM/MG AND MTS TO PM/MG PREVIOUS PAPERS 86 

 

(68.) A man sold his car for Rs.5 Lakhs. In the transaction he incurred a loss of 10%. Find the actual price of the 
car. 
(A.) 4 Lakhs (B.) 4.5 Lakhs (C.) 5.5 Lakhs (D.) 5 Lakhs 

(69.) Mr. Shekhar who is an SPM was allotted a target of 1680 POSB accounts. Out of which he has achieved 
10% of the target in April and May. How many more accounts are require achieving 100% target? 
(A.) 168 (B.) 1512 (C.) 253 (D.) 1023 

(70.) A Post Office has a stamp sale of Rs.6400/-, Rs. 7200/- and Rs.5600/- for 3 consecutive months. In the 4th 
month there is an increase of 15 % of the average sale for the previous 3 consecutive months. What is the 
total sale of stamps in the 4th month? 
(A.) 7520 (B.) 7840 (C.) 7620 (D.) 7360 

(71.) A firm A has annual revenue of Rs.6000 crores. Firm B has annual Revenue of Rs. 4000 crores. Both firms 
have recorded 25% profit. Calculate the total profit of both the firms. 
(A.) 1000 crore (B.) 2000 crores (C.) 1500 crores (D.) 2500 crores 

(72.) 'X' travels 35 km towards west and then takes a right turn and travels 50 KMs more. After that she takes 
another right turn and travels 35 Kms in that direction. How far she is from the original position? 
(A.) 60 kms (B.) 70 kms (C.) 85 kms (D.) 75 kms 

(73.) A sum of Rs.50000/- becomes Rs.750000/- at the end of 4 years calculated at simple interest. Calculate the 
rate of Interest. 
(A.) 8 % (B.) 10.5 % (C.) 12.5 % (D.) 11.5 % 

(74.) Person A earns Rs.800/- in a week. How much will he earn in the month of February 2020 if he could not 
do the job for 7 days? 
(A.) Rs. 25, 00/ (B.) Rs.25, 200/ (C.) Rs.26, 400/ (D.) Rs.25, 800/ 

(75.) A, B and C can complete a task in 100 days. 20 days and 25 days respectively. In how many days the work 
will be completed, if they work and together? 
(A.) 10 (B.) 15 (C.) 9 (D.) 11 
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GDS TO PM/MTS KERALA CIRCLE-2020 KEY 
ANSWER 

(1.) B (2.) A (3.) D (4.) B (5.) B 
(6.) C (7.) C (8.) C (9.) C (10.) C 
(11.) D (12.) C (13.) C (14.) D (15.) C 
(16.) D (17.) C (18.) C (19.) B (20.) B 
(21.) D (22.) A (23.) A (24.) D (25.) C 
(26.) A (27.) D (28.) B (29.) B (30.) D 
(31.) A (32.) B (33.) C (34.) B (35.) C 
(36.) B (37.) B (38.) A (39.) B (40.) C 
(41.) A (42.) D (43.) A (44.) A (45.) A 
(46.) A (47.) A (48.) B (49.) C (50.) C 
(51.) B (52.) B (53.) B (54.) A (55.) A 
(56.) B (57.) C (58.) D (59.) B (60.) B 
(61.) B (62.) A (63.) B (64.) C (65.) A 
(66.) B (67.) D (68.) D (69.) B (70.) D 
(71.) C (72.) A (73.) C (74.) C (75.) A 

 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 


